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V Semester 3 Year LL.B./IX Semester 5 Year B.A.LL.B./B.B.A.LL.B./
IX Semester 5 Year B.A.LL.B. (Maj.-Min.System) Examination, December 2019
Opt. - Il : IPR — | (Old/New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or Kannada
completely.

. What is Intellectual property ? Briefly discuss different forms
of Intellectual property.
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. Define patent. What are the rights of patentee ?
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. What are the essential features of trade mark ? Explain
different types of trade marks.
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. Examine the Jurisdiction of Information Technology Act, 2000.
BRke oIy ©HACLH 2000 VBT LHTO ::a“x
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. Explain the salient features of Geographical Indications
(Registration and Protection) of Goods Act, 1999.
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. Explain the need for protection of cyber space under
intellectual property rights.
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Q. No. 7. Explain important organs of WIPO (World Intellectual
Property Organisation).
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. Write short note on any two of the following :
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(a) Patent Agent
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(b) Registrable and Non-registrable marks
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(c) E-Commerce.
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. Solve any two of the following problems :

3

Zr g
k-3

— S9
DIV STA L

* o~ — —— - e D el o
Ne CIRPYTHTWOL T AIRNTN TR

(a) ‘A'is registered proprietor of Trade mark M-SEAL. ‘B’ adopted
and used mark ‘SM-SEAL’ with all essential characters of
trademark ‘M-SEAL'. Can ‘B’ be restrained from using the
mark ? Decide.
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An employee working for a firm comes out with an
invention after much efforts in the laboratory. But after
the invention, the employer obtains patent in the name
of firm on the invention. Which of the theory supports
employee’s position ?
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‘Nammo'. The defendant
‘Nammo'. The plaintiff
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V Semester 3 Yr. LL.B./IX Semester 5 Yr. B.A. LL.B. (Maj.-Min. System)/
IX Semester 5 Yr. B.A. LL.B/B.B.A. LL.B. Examination, June/July 2019
OPT. - Il : INTELLECTUAL PROPERTY RIGHTS - | (Old & New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2 Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

Examine the contours of different Intellectual Property Rights. Marks:
POE RET BRNG NG LBAnTR) TOBLDAD.
@ &2 T o el

Define an ‘Invention’. Describe the yardsticks that determine the
patentability of an invention. Marks :

bad q® = o~ o8 pu— — DD  wdedaddn T -
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How do you appreciate the ‘Law of passing-off’ ?
'TordTggoN MR HIATE Berl SgFROR0 ?

Examine, in detail, the procedure for the registration of a
geographical indication under the Geographical Indications of

Goods (Registration and Protection) Act, 1999. Marks :
PRReeE RRuSned (3 DEOTIES B diiﬁ) so0d), 1999 0 &30,
PRrees Rrudod Inconsd T3 ododd), DRT=N TOSORD.

Describe the provisions of Information Technology Act, 2000,

dealing with cyber crimes. Marks :
PRSI S Sogmj 503, 2000 g oRoHO  Hwo ErstepIaTatgl
BowoRAT 203NV, DWOAD.
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Q. No. 6. Explain the scope and objectives of Patent Cooperation Treaty
(PCT). Marks : 16

Explain the grounds for revocation of a patent. Marks : 16

fr'i«.v\u wmw&il)_} ﬁ" QI uvd{"\t"{%ﬂf\u QORD.
Write short note on any two of the following. Marks : 2x8=16
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(a) Transfer of Patent Rights
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(b) Trade Libel
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(c) Intellectual Property and Economic Development.
J‘C)S ARZ TNR EOFE WSk,

Solve any two of the following. Marks : 10x2=20
B BONT CIRYTRTTRe 2 BDANTRD wREOLD.

(@) ‘P" has a trademark ‘Specter' on branded contact lens. ‘D’ wants
to use the same for surgical tables. Decide if ‘D’ could succeed in
obtaining registration
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Tech-illa, a maverick, claims he has invented a machine that, if
used as directed, can enable a pebble to be suspended in the air
at a height of 50 feet above the earth’s surface. Can the controller
consider this claim for granting a patent ?
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(c) Anand successfully claims and obtains a patent in India for his
invention in the field of gene therapy. Around six months subsequent
to the same, Maggie, a U.S. citizen, contends that she has acquired
a U.S. patent on the same invention two years prior to the grant of
patent to Anand. She wants Anand's patent to be revoked. Can she
succeed ?

Sogmk WISeHOT T oI, RoBReFImon emw pleciald JaaIaTY)
Sz, SN RRRG $T) (6) Sordbnty oI, eeon Hoodnrd
c:w,rw :f\esou o SRN ade RoBeePIoL d:e 3
”o.i:\:_%a c‘.,.gmi :b Crlelat "ciodpqwéoi QTR B
& RoZRPIoD e —’damh a“a,\onJ TN :ﬁ?iod?i AT
SrbrievRiiedon eeszomd o w0 chBycIRIEde ?

w rd




0 0 5 0O 0 A O 0502/2063/0902

3 Year LL.B. V Sem./ 5 Year B.A.LL.B. (Maj.-Min.)IX Sem./5 Year
B.A.LL.B./B.B.A.LL.B. IX Sem. (Old/New) Examination, December 2018
INTELLECTUAL PROPERTY RIGHTS - |
(Opt. = 1II)

Duration : 3 Hours Max. Marks ;: 100

Instructions : 1. Answer question No. 9 and any five of the remaining.
2. Question No. 9 carries 20 marks and remaining questions
carries 16 marks each.
_ Answers must be written either in English or Kannada
completely.

. What is meant by Intellectual Property ? Briefly discuss
different forms of Intellectual Property.
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. Discuss the various rights available to a Patentee. Examine
the limitations imposable on Patentee's rights Marks :
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. What are the essential features of Trade Mark ? Explain the
different types of Trade Marks.

. Define Cyber Crime. Explain the different categories of Cyber
Crime Marks :
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. Explain the protections available for geographical indications.
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. Explain the salient features of Paris Convention.
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Q. No. 7. What is infringement of Trademark ? Discuss the remedies
available for infringement. Marks : 16
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. Write a note on any two : Marks : 2x8=16
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a) E-Commerce.
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b) Patent co-operation Treaty (PCT)
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c) Péient agent.
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. Solve any two of the following problems : Marks : 2x10=20
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a) Mr. ‘X’ invented an antivirus software namely ‘Quick heal’ to
provide protection to the computer system. He has applied
for patent protection for his invention. Advise him.
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The Plaintiff holds trademark on ‘DON’. The defendant
begins to use trade mark as ‘DAWN'. The Plaintiff
challenges it. Decide.
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‘X' a proprietor of a registered Trademark brings a
suit against ‘*Z' for infringement after 15 years of such
infringement. Is there any irregularity in the suit ?
Comment.
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